Ratio

< 0dy > (kM)

<opJp,> (%)

Ratio

N
o

el

-2 -1 0 1 2 3
TP n (PCA to beamline)

Ratio

3
TP n (PCA to beamline)

— DQV ariginal s[epZ [[Eiar-p asel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

[N
[¢)]

[any

...............................................

0.9fH111-

-2 -1 0 12 3
TP n (PCA to beamline)

— 100

0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


